APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	JOHN FAHRNEY	Page 1 of 4						
	FACING 2019 - ASPHALT BASE PA	TCHING AND BASE PATCH GRINDING						
Contract Number:	8320	Payment Number: 4						
DO NOT WRI	TE IN THIS BOX - TO BE COM	MPLETED BY CITY ENGINEERING PERSONNEL ONLY						
TOTAL FROM PAG	E:4	571,533.32						
LESS RETAINAGE:		17,293.13						
SUBTOTAL:		554,240.19						
LESS PREVIOUS P	AYMENTS:	316,387.56						
CURRENT PAYME	NT DUE:	\$ 237,852.63						
CONT	Wahe Her	9/24/19 DATE						
INSPECTOR'S CER The un by this	TIFICATE FOR PAYMENT: dersigned Inspector certifies that to	o the best of his/her knowledge, the work covered completed in accordance with the contract documents, ent for the amount certified.						
INSPE	CTOR	9/27/19 DATE						
	E TIME PERIOD FOR THIS PAYME	NT REQUEST: FROM: 8)19 19 TO: 9/27/19						
CNC	Trucking	DRS THAT WORKED ON PROJECT DURING THIS PERIOD						
	PAYMENT REQUEST SHALL BE SULL PAYMENTS CAN BE PROCESSED.	BMITTED TO THE ENGINEER/INSPECTOR.						

ACCOUNT NO. 11856-402-200 [Mill, Pave & Castings]

ACCOUNT NO. 83252-54410 [Sanitary] ACCOUNT NO. 86100-54410 [Water]

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.

RESURFACING 2019 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING

CONTRACT NO. 8320 PAYMENT NO. 4

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. 11856-402-200 [Mill, Pave & Castir	ngs]											
10790	RR INSURANCE	1.00	EA	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$83.50	\$4,175.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	25.00	SY	\$25.00	\$625.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$7.50	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	4,000.00	SY	\$26.50	\$106,000.00		3,400.00	\$90,100.00	2,200.00	\$58,300.00	5,600.00	\$148,400.00	140.00%
40333	BASE PATCH GRINDING, METHOD 3	1,000.00	SY	\$34.00	\$34,000.00		300.82	\$10,227.88	100.00	\$3,400.00	400.82	\$13,627.88	40.08%
40335	BASE PATCH GRINDING, METHOD 5	300.00	SY	\$47.50	\$14,250.00		26.33	\$1,250.68	19.78	\$939.55	46.11	\$2,190.23	15.37%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$40.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	200.00	SF	\$9.00	\$1,800.00		62.00	\$558.00	0.00	\$0.00	62.00	\$558.00	31.00%
90001	RR FLAGGING	5.00	HOURS	\$100.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS			•	\$165,050.00			\$102,136.56		\$62,639.55		\$164,776.11	99.83%
ACCOU	NT NO. 83252-54410 [Sanitary]												
10790	RR INSURANCE	1.00	EA	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$83.50	\$4,175.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	25.00	SY	\$25.00	\$625.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$7.50	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.
RESURFACING 2019 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING
CONTRACT NO. 8320

	NT NO. 4						Ī				*****		Ī
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40332	BASE PATCH GRINDING, METHOD 2	1,200.00	SY	\$26.50	\$31,800.00		500.00	\$13,250.00	1,000.00	\$26,500.00	1,500.00	\$39,750.00	125.00%
40333	BASE PATCH GRINDING, METHOD 3	600.00	SY	\$34.00	\$20,400.00		601.89	\$20,464.26	0.00	\$0.00	601.89	\$20,464.26	100.32%
40335	BASE PATCH GRINDING, METHOD 5	100.00	SY	\$47.50	\$4,750.00		11.00	\$522.50	100.00	\$4,750.00	111.00	\$5,272.50	111.00%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$40.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	2.00	EACH	\$200.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	200.00	SF	\$9.00	\$1,800.00		73.00	\$657.00	0.00	\$0.00	73.00	\$657.00	36.50%
90001	RR FLAGGING	5.00	HOURS	\$100.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$68,150.00			\$34,893.76	-	\$31,250.00		\$66,143.76	97.06%
ACCOU	NT NO. 86100-54410 [Water]												
10790	RR INSURANCE	= 1.00	EA	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$83.50	\$4,175.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	50.00	SY	\$25.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$7.50	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	7,000.00	SY	\$26.50	\$185,500.00		1,400.00	\$37,100.00	3,000.00	\$79,500.00	4,400.00	\$116,600.00	62.86%
40333	BASE PATCH GRINDING, METHOD 3	3,500.00	SY	\$34.00	\$119,000.00		900.00	\$30,600.00	2,600.00	\$88,400.00	3,500.00	\$119,000.00	100.00%
40335	BASE PATCH GRINDING, METHOD 5	3,000.00	SY	\$47.50	\$142,500.00		700.00	\$33,250.00	1,500.00	\$71,250.00	2,200.00	\$104,500.00	73.33%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		14.67	\$513.45	0.00	\$0.00	14.67	\$513.45	58.68%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.

RESURFACING 2019 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING

CONTRACT NO. 8320

	NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40354	ASPHALT BASE PATCHING, OVER 10	15.00	SY	\$40.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40367	ADJUST VALVE CASTING, METHOD #1 - RESURFACING	2.00	EACH	\$200.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40369	INSTALL ADJUSTABLE VALVE BOX RISER	2.00	EACH	\$200.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	100.00	SF	\$9.00	\$900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$100.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$458,525.00			\$101,463.45	-	\$239,150.00		\$340,613.45	74.28%
CONTR	ACT TOTALS				\$691,725.00			\$238,493.77	<u>.</u>	\$333,039.55	•	\$571,533.32	82.62%